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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 At R4.4.11 BERLULM=T (E% BREE9(<44) BREE9(<2.8) BRHEEY
2 TS EET R4.4.11 BEERLULM=T (FE% BRHET(<3.8) BRHET(<3.2) - Janpcc
3 R UG R4.4.12 BEERLULM=T (FE% BRHEET(<41) BRHET(<L28) - Janpcc N
4 iy =) R4.4.11 BEERLULM=T (E% BREE9(<5.9) BREE9(<4.3) - Janpcac N
5 R UG R4.4.12 BRESITF (FEER) BREE9(<4.2) BRHEE9(<3.2) - Janpcc
6 wBE™ R4.4.11 HoU () BHE97(<3.6) BHE9(<3.7) BHEEY
7 =ET R4.4.11 Hhol (g BREE9(<3.7) BRHEE(<L38.7) L Janpcac N
8 TR R4.4.11 HoU G BHE9(<3.8) BHE9(<35) BRHEY
9 BEH R4.4.12 Hhol (g BREE3(<44) BRHEE3(<L38.7) L Janpcac N
10 FEH R4.4.13 HoU G BREEI(<47) BRHET(<4.0) BRHEY
11 FEmH R4.4.13 HhoU (i) BHEET(L5.1) BHEEY(<3.9) BREEY
12 = R AT R4.4.13 HoU (BF4E) BHEY(<3.9) BRHEEY(<32) BHEY
13 =Yg R4.4.11 HoU (BF4E) BHEET(<48) BHEEY(<3.9) BHEY
14 [LEPET R4.4.12 SE(FFHE) BHE9(<6.5) BEE9(<L5.5) L anpcac
15 y={:ii) R4.4.13 =508 (B ) BRHET(L5.1) 105 11
16 R ERHT R4.4.13 =M (B ) BRHEE3(<4.9) BRHE9(<5.2) BREEY




BRERER

No 5 RERH AHDERE Iy L-134 2 L-137 BEE
Ba/ ke Ba/ke Ba kg
17 EZAM R4.4.12 (EZFTD(ITH) (B BRHEET(<6.7) 10.7 11
18 LiES= 1) R4.4.11 (EZFTD(ITH) () BRHEE7(<4.9) BRHEE7(<3.8) BREEd
19 RIEIRTHET R4.4.9 (EZFTD(ITH) () BRHEE7(<5.0) BRHEE9(<5.0) BREEY
20 =5 R4.4.12 (EZFTD(ITH) () BRHEE7(<48) BRHEE7(<34) BREEd
21 RIEXER R4.4.12 (EZFTD(ITH) () BRHEET(<34) BRHEE7(<3.9) BREEd
22  BRHET R4.4.13 (EZFTD(ITH) () BRHE9(<5.5) BRHE9(<35) BREEY
23 BRIl R4.4.12 SEDES (BrE) BRHE9(<6.5) BRHEY(<4.3) BRHEET
24 RIFEEHE R4.4.13 SEDES (BrE) BRHEEY(<54) BRHE9(<3.6) BRHEET
25 = R AT R4.4.11 fzIF O (BE) BRHE9(<6.1) 8.66 8.7
26 V=L R4.4.11 T (B4) BRHEE9(<5.2) BRHEEY(<5.7) BRHEET
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